OLIVER TWIST
2. ANALYSIS

1. The narrator is third person and omniscient, it's a voice outside the novel who describes all the characters’ feelings and thoughts. 

2. The text can be divided into 4 parts:
The first part (lines 1-20) describes the meal of the children and it is dominated by the children's hunger and despair. 
The second part (lines 21-29) is dominated by fear because the kids are waiting for O. to do something very daring and dangerous: ask for some food.
In the third part Oliver's request shocks the master who reacts as if he had done something really terrible (lines 30-36). 
In the last part (lines 37-52) the board members react like the master and they decide to sell Oliver. One of them even foresees that Oliver will become a criminal and will be hanged. They don't try to understand the kids, they consider Oliver a rebel that creates problems, so they sell him

3. The description is detailed and it creates a realistic picture of the scene. It makes the readers understand the situation better. 

4. The narrator sympathizes with the children and makes the readers feel sorry for them. 
Dickens uses irony to underline the miserable situation of the children (for ex. in line 3 he speaks about a “festive composition”, but there is nothing festive here, on the contrary there is only fear, hunger and despair; in line 24 he compares the “long grace” (long prayers) to the “short commons” (small food) to underline the fact that the children need more time to say the prayers than to eat. Dickens wants to suggest that the people who manage the workhouse consider religion (an abstract form of religion) more important than humanity and pity for the children. He uses irony also to describe the exaggerated reaction of the master and of the board members (“stupefied astonishment” in line 30-31 and “paralysed with wonder” in line 32 for the master and “Horror was depicted on every countenance” in line 40 for the board members). 
The dialogues make the story more interesting and lively

5. The text is based on the contrast between the world of the children and the world of the adults. 
The children are very poor, hungry, scared and submissive; they are alone and no one protects or defends them. The adults are fat and in good health (description of the master in line 30), powerful, indifferent to the children’s suffering and without humanity. 
Even if adults belong to the church, so they should be religious and they should want to help the kids, actually they don't care about them at all, they only exploit them  
In Oliver Twist we can find some characteristics of Dickens’s novels: 

1. D. describes the society of his time in a realistic way, he criticizes its problems and injustices, for ex. the miserable situation of the poor children in the workhouses
2. The story has a didactic purpose and a happy ending: the main character, Oliver, is good and so he is rewarded at the end of the story, while the villains are punished.
3. D. describes several social classes: poor children, the religious people who run the workhouse, criminals and prostitutes who live in the slums of London, but also respectable Victorian gentlemen who want to help the poor people and to improve the society
